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Instructions :

J All questions are compuisory.

‘-il This question paper has nwo parts ‘A’and B’

i) Part A’ contains 20 multiple choice pe questions of 1 mark cach
that have to be marked on OMR Answer Sheet.

Iv)  After giving answer on OMR Answer Sheet, do not cut it and do not
use eraser, whitener etc.

v)  Part ‘B’ contains detailed answer tvpe questions of 50 marks.

Vi) Total S questions are there in this part.

vii) In the beginning of each question it has been mentioned how many
parts of it are to be attempted.

viii) Marks allotted to each question are mentioned against it.

ix) Start from the first question and go up to the last question. Do not
waste yvour ume on the question you cannot solve,

X) If you need place for rough work, do it on left page of your answer-
book and cross ( x ) the page. Do not write any solution on that
page.

xi) Do not rub off the lines constructed in the solution a question of
construction. Do write the steps of construction in brief, if asked.

xii) Draw neat and correct figure in solution of a question wherever it
is necessary, otherwise in its abserice the solution will be treated
incomplete and wrong.

&
QQ;\% Part - A
$Q\ ( sgfawedta we )

§( Multiple Choice Type Questions )
1. ng 9= 21’ F1 TyHer SRR Fffad F ¥ feg qovee wm ¥ i

27 x5

T BT 7

(A) 1 (B) &

(©) 3 (D) 4 | ‘ 1
1. The decimal expansion of the rational number 2335 will terminate after

which number of places of decimal ?

a vV (B)

(€) 3 (D) 4 1
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5 (-3, 5) ® y-21 9 38 @d

A -3 B) 2~

(C) 5 (D) | G FIE Tl 1

The distance of the point (- 3, 5) from y-axis will be

(A) -3 (B) 2

< S (D)  nonc of these 1

WA 144 o FVIST OFTEVS § SF TUHEUE] H GTaT HT TGS &

(A) 3 B) 4

(C) 5 | D) 6 1

The sum of powers of prime factors of the factorization of the number 144

will be

(A) 3 : B) 4

(C) 5 (D) 6 1

f&mm T & FoWo (132, 288 ) = 3168, T HoWo (132, 288 ) BT

(A) 288 (B) <132 : -

(C) 48 (D) . 12 1

Given that LCM of ( 132, 288 ) = 3168, then HCF of ( 132, 288 ) will be

(A) 288 . g\\g ® 132 -

(C) 48 NS D) 12 1
N

g fgama x?“12x4+m=0 % YoT SRIER &, T m & T @

(A) 4 (B) 7

© 9 D) 12~ 1

If the roots of the quadratic equation 3x*-12x+m=0 are equal, the

value of m will be

(A) 4 (B) 7
© 9 (D) 2 !
FHIEOT 52 - 3x+2=0 & oAl &1 AT &M .
3 ‘ -3
(A) s (B) 5
2 D) -2
© 2 D) -2y 1
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6.  The sum of the roots of the equation 5x%-3x+2=0 will be
3 3
WS B -4e
2 2
(C) 5~./ (D) - 1
7. g9 FHEOT x+2y=70 IR 2x+iy=35 F FE & TG § A . F AW
Ul
1
@ (B) %
(C) 2 - (D) 5/ 1
7.  The simultaneous equations X+2y=70 and 2x+2y=35 have no solution
if & will be
1
A) L 1
(A) 2 (B) >
©) 2 o & 1
8. fagell A(-4,2) @ B(5,6) A SN T T@ETE W A= fa=e
P(%,‘I) €1 @ FT 71 &
(A) -8 (B).. -4
©) 2”7 Q@ D) 4 1
8. Point Pk ) 1S %@S\md-pomt of the line segment joining the points
A(-4, 2} and 1@6] The value of a will be
(A) N B) -4
(C] 2 (D) 4 1
9. @ m fox 4B ABC % sWR BC ¥ WHARR TEmEve PQ WiET T &)
AT PQ: BC= 143, A APTHT PRI 3IR B
A
P Q
B c
(A) 1:4 B) " 1:3
(C) 1:2 (D) 3/3 1
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In the given figure base BC||PQ is drawn in AABC . If PO: BC=1:3, the
ratio of AP and P@ will be R
P Q
B C
(A) 1:4 B) 1.3 ‘
C) 1:2 D) 2.3 1
10. Fe ABC § ok AB =6J3 T, AC = 12 ¥ &1 BC = 6 ¥l &, A £B I
TTq B
(A) 120° (B) 90°
JS)60° D) 7 1
10. In AABC if AB =6J3 cm, AC = 12 ¢cm and BC = 6 cmi, then measure of
ZB will be '
(A) 120° (B) 98°.
(C) 60° (D) - 45°° 1
11. 3 §9ET T & &9%cl @ UG 16 ¢ 25 &1 Bl & Oa et =
QT g
(A) 5:4 | \\@ (B) M _
(C) 3:5 . S (D) 16:9 1
11. Areas of two.simil langles are in the ratio 16 : 25. The ratio of
corresponding sid the triangles will be
A) 5:4 N (B) 4:5
(C) 3:5 (D) 16:9 1
12. ‘99 % AB= 3 W, AC= 6 ¥l, BD =2 9 3R cp = 4 ¥, at ,Bap 3%
ZCAD T 3T9Td &
33 6 %
Boap adm €
(A) 2:4 B 1:1
€ 3:6 (D) 6:3
' 1
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12¢ In the figure, AB= 3 cm, AC= 6 cm, BD =2 cm and CD = 4 cm, The rgyiq
of ZBAD and £ZCAD will be

3 em 6 cm

2cm D 4cm c
A) 2:4 By 1:1
(C) 36 | (D) 6:3 1
sin31°
13. ——— %1 O g
@ -1 ®)
(C) (D). '2 1
13. The value of smg; will be
COs SQ\Q
D :
A) -1 \@6 B) O
Q .
©g O - ©) 2 !
14. o 4, fag o3 Pagait A wn P 2@ W s wol = T @t
A P
/e‘d’<
45
O 5 Q
(A) 30°, 45° » (B) 45° 30°
(C) 45°, 60° (D) T |/ WL T 1
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14, In the figure, the angles of depressions of point O as seen from points

A and Parc

A P
/ﬁd'<
45
O 5 0

(A) 30°, 45° (B) 45°, 30°

(C) 45°, 60° (D) - none of these . 1
15. af U g9 % ORIk See SEEE ¥ A GAM &, o 39 g9 i G

Ul

(A) 2ru3a{ (B) xHEE

(C) 4 AE® (D) 7 9E® 1
15. If the circumference and the area of a circle are numerically equal, the

radius of the circle will be

(A) 2 ypifs (B). & units

(C) 4 units (D) 7 units_ 1
16. TE 3N T % wAT fedht w9 At x 8 T x 2 7 €, Y fmerht 2 W HR

o T T E 1 PR I uE S gt

(A) 18 (B) 12

(C) 16 (D) 24. : 1
16. The dimensions of a metallic solid cuboid are 9 m x 8 m x 2 m. It is

melted and recast into cubes of dimension 2 m. Thus the number of

cubes so formed will be

(A) 18 (B) 12 S

C) 16 (D) 24 1
17, =g wifkoft &1 Ame B

A 0-10 10-20 20-30 30-40 | 40-50
CURe G
: 4 S 6
AT 4 l

(A) 20 . B)  20-5

C) 215, (D) 22 1
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17. The mean of the following table will be :

Class-interval 0-10 10-20 50-30 | 30-40 | 40-50 |
Frequency 4 5 6 4 1
(A) 20 (B) 205

(C) 21-5 (D) \g)/ L l
18. % KA ™ afiwe = TR M IR Tgerw N 28 AR 16 €, @ Hieg

(A) 22 (B) 235

€) 24/ (D) 245 1
18. If the arithmetic mean and mode of the given data are 28 and
: 16 respectively, the median will be

(A) 22 (B) 235
© 24 (D) 245 !
19. frAfaiEd SRR s $1 Sgers ot e |
S 1-3 3-5 5-7 7-9 9-11
(A) 1-3 B) 3.8~  (C).5-7 (D) 7-9 1
19. The modal class of the following frequency distribution will be
Class-interval 1-3 3-5 5-7 7-9 9-11
Frequency ! 7 8 2 2 1
(A) 1-3 (B). 3 \?;y C 5-7 (D) 7-9 1
20. FrfefEa aierar se =t siftger ot @
Tt AT 0-10 | 10-20 | 20-30 | 30-40 | 40-50
TREART 4 5 13 20 8
(A) 40-50 (B) 30-40 (C) 20,30 (D) 10-20 1
20. The median class of the following frequency distribution will be
Class-interval 0-10 10-20 | 20-30 | 30-40 | 40-50
Frequency 4 5 13 20 8
(A) 40-30 (B) 30-40 (C) 2030 (D) 10-20 1
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Part - B
( forem TIE WA )
( Detailed Answer Type Questions )
1, @ Efm:
Loy Tag #if 75 /3 1 el sem ¥ 2
(b) IR tan(A+B)=1 IR tan(A-jB)=%, 0°< A+B<90° @l AR BH
A I i | 2
© W EA R R T ST 64 ¥ ¥, & W worhl A Th
TS ST S ¥ | ST WA 7 Y S { | 2
{4y FreftEa wrelt | wfesd A i ;
T IFAA 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
FREERAT 7 12 18 15 10 3

(¢) fa=gsli (1,-5) 3R (-4, 5) % fom ot Y@@ETE Hit +IF §R

fafora & =t fagea P s ifew)

2

n fag A & FRwie T Fig, & AB U6 g9 &1 =W ¢ fasr &%
(2,-3)¢ T BF FRu® (1,4) €

1. Do all the paris™:

(a) Prove that J3 is an irrational number.,

(b) If tan(A+B)=1 and tan(A-B)=

of A and B.

1
J3

2

2

, 0°< A+ B< 90°, find the values

2

() Two cubes each of volume 64 em? are joined end to end to form a

cuboid. Find the total surface area of the resulting cuboid. 2
_ (3J/Fi.nd the median from the following table : 5
Class-interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 [ 50-60
Frequency 7 12 18 15 10 3
[ Turn over
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(€) Find the co-ordinates of the point di
s¢gment joining the points (1,-5) and (= 5)-
(Q\_Aﬁnd the coordinates of the point A, whe

10
vided by A-axis o the line

'.l

re AD is the diameter of

. . . e il 1 e d4) 0
circle whose centre is ( 2, - 3 ) and the coordinates of Bare (1, +4). 2

Q.JFﬁ'Tu?mavg‘fﬁaﬁaﬁﬁmz

(a)

(b)

hﬁﬂ'ﬁﬂﬁﬁﬁt{mﬁquﬁw ox+ ky =1 3N 3x - Sy~ 7 W
T A & ¢ 1
frfefad wieon & g Wt ae-ee fafr oot wlf

2x+3Yy-46=0

3x+3Yy-74=0 4

(c) 76 o= UH E@Eve Gifgu AR ?{@ 3:4% ST N ol
FAT 1 2 it T e o
(d) o cose=§,?ﬁ sincos0+tan2 0 T HIT JRD HINT | 4
() T aaman arolt @ o 9@ T SR Al faenfal & st @
ST 25 % q
IS ED k@@w 10-20 | 20-30 30-40 40-50
faenterat =t ﬁ@‘;g@ 6 f 6 10 5
A\
0 Freffaa ag\v@?n RO } A T FIC A
T e o%o 20-40 | 40-60 60-80 | 80-100 | 100-120 | 120-140
TREARAT 6 8 10 12 6 5 3
Do any five parts:
(a) Find the value of k for which the equations 2x + ky = | and
3x - Sy = 7 have a unique solution. 1

- . . )] \
(b) Solve the following ‘Pair of qutullu:1s usmg  cross-multiplication
method :
2x+3y-46=0
3x+5y-74=0
4
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Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

b n22(DX)

(©)  Draw a line segment of lenpgth 740 cm o and divide I g te tatio 3 4.

Write the mensuren of both the two party, A

() I cont- .' , find the value of sinOcon0 v tan? 0
]

1

(€} Find the value of £ rom the following requency fuble §6 25 in the

mean of marks obtained by the students

4
Marks obtained 0-10 | 1020 | 2030 [ a00 | 4050
No. of studonts § _T | n T I;Il ) -
(0 Find the mode of the following data ; 1

Class interval | 0-20 | 20-10 | 40-60 | 60.80 | 80 ]ﬁii'.‘\ 100-120 | 120- 140

e s = e o as — r——

Frequencey O i 10 12

0O ] 3
3, Fuafabaa wilaor g @) eer @i
2’.4..3-_-;]]' i_.f_ir,*; 6
X Yy X Y
arean
uw g % wt St @, S 3wk ster o 1 sy T s & el Te "If el o @,
o 3% o1 W 1 vern swen ¥ g B e @R O
3. Solve the following pnir (}@Lmtimm :
3,2 4 5 6
— — — - — (
p + m 11, o y%&‘ )
$§Q OR
A fraction becotics 1 “when 1 is added to the numerator and it hecomes
% when 1 is sublracted from its denominator. Find the fraction, 6

4. UF OET @ Fan 15 e ¥ AR F i} e & gud ek R e %
Wit w1 ST F0T 300 AT WA F WG W IETE Hv 45 ¥ R Afe B
W B S 5(3+/3) T 6

M .
e T % g @ U e & T SR W 60t ¥ 1w W R w
% s 450 ¥ AR TN @ g a0 Wex , @ foe 9l R
I A S 20(V3 - 1) e E) | 6
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4. The height of a temple is 15 metre. From the top of the temple, the angle
of elevation of the top of a building on the opposite side of the road is 30°
and angle of depression of the foot of the building is 45°. Prove that the

height of the building is 5(3+3) metre. 6

OR
From the top of a building, the angle of elevation of the top of a tower is
60°. From the top of the building, the angle of depression of foot of the
tower is 45°. If the height of the tower is 40 metre, then prove that the

height of the building is 20{~/§-—1] metre, 6

5. @mwﬁ%mm%wﬁﬁwwﬁm%aﬁﬁm
ARG &1 AR STt AT TGS qUT WF T IS GHIA 8, af Ip B

B 3 SR @1 U W S 6
arean

12 Heii, 16 WAt 3R 20 WAl =TH ATt WIg & A9 34T el ) REerHt TF 3

el ST S & | 9 31 e T S e A 6

S. A solid is in the shape of &.cone which is surmounted on a hemisphere of
same base radius. Ifafhe curved surfaces of hemisphere and cone are
equal, find the ratig®sf radius.and height of the cone. ' 6

OR
A solid sphere is made by melting the three metallic solid spheres of

diameters 12-cm, 16 cm and 20 cm. -Find the diameter of this solid
sphere. ' 6

822(DX) - 3,62,000
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